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(1)
What is an Essay?
a.Several paragraphs long
b.One topic, just as a paragraph
c.Discussing too complex topic in several paragraphs
d.all of answers

2
How many parts of an essay?
a. two parts
b. three parts
c. four parts
d. five parts

M
Unity is...........
a. aparagraph discusses one and only one main idea from beginning to end.
b. the sentences must hold together; that is, the movement from one sentence to the next must be logical and smooth, without sudden
jumps.
c. Several paragraphs long.
d. all of answers

4
Coherence is.............
a. a paragraph discusses one and only one main idea from beginning to end.
b. the sentences must hold together; that is, the movement from one sentence to the next must be logical and smooth, without sudden
jumps.
c. Several paragraphs long.

d. all of answers




(5)
There are two ways to achieve coherence.............
a. Repeated key words and Transition signals
b. states the specific topic and may list subtopics or subdivisions of the main topics.
c. introduce the general topic of the essay and capture the reader’s interests
d. General statements and Thesis statements

(6)
How many parts of The Introductory Paragraph ?
a. two parts
b. three parts
c. four parts
d. five parts

]
The Introductory Paragraph has two parts is...........
a. Repeated key words and Transition signals
b. states the specific topic and may list subtopics or subdivisions of the main topics.
c. introduce the general topic of the essay and capture the reader’s interests
d. General statements and Thesis statements

(8)
There are two elements to General statements........
a. Repeated key words and Transition signals
b. states the specific topic and may list subtopics or subdivisions of the main topics.
c. introduce the general topic of the essay and capture the reader’s interests
d. General statements and Thesis statements

9)
There are four elements to Thesis statements.......
a. states the specific topic
b. may list subtopics or subdivisions of the main topics
c. may indicate the pattern of organization of the essay
d. is normally the last sentence in the introductory paragraph
e. all of answers

(10)
from elements of Transition Signals............
a. To introduce an additional idea
b. To introduce an opposite idea or contrast
c. To introduce a choice or alternative
d. To introduce a restatement or explanation
e. To listin order
f. To introduce an example
j-To introduce a conclusion or summary
h. To introduce a result
i. all of answers

(11)
To introduce an additional idea............
a. furthermore
b. however
c. otherwise
d.in fact

(12)
To introduce an opposite idea or contrast...........
a. furthermore
b. however
c. otherwise
d.in fact

(13)
To introduce a choice or alternative............
a. furthermore
b. however
c. otherwise
d. in fact

(14)
To introduce a restatement or explanation..........
a. furthermore
b. however
c. otherwise
d.in fact

(15)
To listin order.............
a. for instance
b. first
c.in brief
d. consequently



(16)
........... Different Models of Introductory Paragraph
a. Funnel Introduction
b. Dramatic, interesting, or funny story introduction
c. Surprising Statistics or Facts Introduction
d. Historical Background Introduction
e. all of answers

17
what is a thesis statement?
a. the thesis statement is the sentences that tells the main idea of the whole essay.0
b. the sentences must hold together; that is, the movement from one sentence to the next must be logical and smooth, without sudden
jumps.
c. Several paragraphs long
d. all of answers
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(1)
You should organize your body paragraph according to some sort of pattern, such as
a. - Chronological order
b.- Comparison/ contrast
c.- or both
d. all of answers

2
basic pattern for essays is ...........
a. - Chronological order
b.- Comparison/ contrast
c.- logical division of ideas
d. all of answers

(3)
Logical division is...........
a.is an appropriate pattern for explaining causes, reasons, types, kinds, gualities, methods, advantages, and disadvantages.
b.often useful before lists of two, three, or more subtopics in a thesis statement
c.means that each item in a list or comparison follows the same grammatical pattern

4
Logical division" as these typical college exam questions ask you to do. For Example...........
a. Economic Explain the three causes of inflation
b. U.S. History Discuss the causes of the U.S. Civil War.
c. Business explain the three main forms of business organization
d. Health Sciences Describe the various classes of drugs used to treat depression.
e. Agriculture/ Landscape design Describe the basic types of soils and additives needed to
f. all of answers

®)
Three Keys to Organize Logical Division Essay is..............
a. Divide your topic into subtopics, and then discuss each subtopic in a separate paragraph.
b. Write a thesis statement that indicates logical division.



c. Use transitions between paragraphs to guide your reader from one subtopic to the next.
d. all of answers

(6)
how many subtopics may you expect in statement?
a. two areas
b. three areas
c. four areas
d. five areas

(M
Native Americans have made valuable contributions to modern U.S. culture, particularly in the areas of
a. language
b. art
c. food
d. government
e. all of answers

(8)
inflation has ........... causes
a. two
b. three
c. four
d. five

9)
Of the causes of inflation ...........
a. excessive government spending
b. unrestrained consumer borrowing
c. an increase in the supply of paper money
d. all of answers

(10)
Puppies, like children, need .......... love ....... discipline to become responsible members of society. (Paired Conjunctions)
a. and, both
b. both ,and
c. not only,but also
d. but also,both

11
Acolonis.............
a. often useful before lists of two, three, or more subtopics in a thesis statement
b. is an appropriate pattern for explaining causes, reasons, types, kinds, qualities, methods, advantages, and disadvantages.
c.means that each item in a list or comparison follows the same grammatical pattern

(12
Young people in my culture have less freedom than young people in the United States in three areas is..............
a. where they live
b. whom they marry
c. what their job is
d. all of answers

(13)
The Father of Psychoanalysis, Sigmund Freud, believed that the human mind had three separate parts is..........
a. the id
b. the ego
c. the superego
d. all of answers

(14)
0000000means that each item in a list or comparison follows the same grammatical pattern
a. Parallelism
b. colon
c. Paired Conjunctions
d. Logical division of Ideas
(15)
is an important element in English writing, especially when you are listing and comparing and contrasting items or ideas
a. Parallelism
b. colon
c. Paired Conjunctions
d. Logical division of Ideas

(16)
My English conversation class is made up of Chinese, Spaniards, and some are from Bosnia is..........
a. Not Parallel
b. Parallel
c. All the answers wrong

an
My English Conversation class is made up of Chinese, Spaniards, and Bosnians
(The items are all nouns)
a. Not Parallel



b. Parallel
c. All the answers wrong

(18)
is the most important sentence in your essay................
a. Parallelism
b. colon
c. Paired Conjunctions
d. A thesis

19)
Three clothing styles you can see at my university include ......... Jereeeae Jereeaae
a. Uniforms dress
b. Dishdash
C. pants
d. all of answers

(20)
There are three types of drivers that make our street unsafe.....,.....,......
a. speeders
b. cell-phone users
c. teenagers
d. all of answers

(21)
Living in a small town has several advantages........
a. little traffic
b. a low crime rate
c. friendly neighbors
d. community spirits
e. all of answers
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@
the concluding paragraph consists of:
a. A summary of the main points, or a restatement of your thesis in different words;
b. Your final comment on the subject, based on the information you have provided.
c. All of answers

@)
the concluding paragraph should be introduced with a conclusion transition signal: Such as
a. Indeed
b. Next
c. First

©))
what is principles you should follow to write an effective conclusion:
a. The conclusion should follow logically from the body of the essay.
b. The conclusion must summarize the whole essay, not just one or two major points.
c. The conclusion should not raise any new points but must be related to the thesis statement or body of the essay.
d. All of answers

4)
you can use different devices to make your final comment more interesting. Some of them are:
a. Emphasize the result of the ideas in the essay;
b. Offer a solution to the problems stated in the essay;
c. Predict a situation that will result or occur from the ideas introduced in the essay;
d. Make a recommendation concerning material presented in the essay.
e. All of answers

©)
an outline of an essay can be very helpful for two reasons:
a. An outline will help make your essay more organized.
b. An outline saves time for writers.
c. All of answers

(6)
what is this number "v" in roman numerals
ab

coo
[ BN Ne)}

(7)
what is this number "viii" in roman numerals
a. 5

coo
0o N O

(8)
what is this number "vii" in roman numerals
a. 5
b. 6
c.7

o
©

9)
what is this number "xiii" in roman numerals
a. 11
b. 12
c.13
d. 14

(10)



what is this number "x" in roman numerals
a. 11
b. 12
c. 13
d. 10
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(1)
four types of Introduction are
a. Funnel Introduction
b. Dramatic, Interesting or funny story
c. Surprising Statistics or Facts
d. Historical Background
e. all of answers

(2
an essay has three main parts........ Jereeeeaes Jeeeeeee
a. an introduction, a body,and a conclusion
b. paragraph. an introduction, a body
c. paragraph, a body,and a conclusion

3
the introductory paragraph consists of two parts......... Jeereaae
a. a few general statements and a thesis statements
b. a body,and a conclusion
c. paragraph and body
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A Process essay is
a. adescription of a procedure, a step-by-step analysis and explanation of a process.
b. Several paragraphs long
c. Discussing too complex topic in several paragraphs

(2
Your audience is your
a. reader
b. writer
c. teacher

(3
Do not "announce" or "talk" to the reader in the examples of bad writing:
a. "In this essay, | will explain...,”



b. “As | mentioned above...,”
c."As | have shown...,"
d. "l have chosen to write about...,"
e. "the above reasons,”
f. all of answers

(4)
Never use the following expressions:
a. "I think,"
b. "l feel,"

c."In my opinion."
d. all of answers

(%)
What is the correct sentence?
a. (General introductory material comes before the thesis)
b. (General introductory material comes after the thesis)
c. (General introductory material comes during the thesis)

(6)
One of the dangers of this type of essay is ............
a. to write a topic sentence that is too narrow or limited.
b. to write a topic sentence that is too narrow
c. to write a topic sentence that is too limited.
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(1)
What is a cause? What is an effect?
a. Cause and effect depend on each other. You can’t have one without the other.
b. Cause and effect depend on Cause
c. Cause and effect depend on effect

(2
what is correct of The patterns of cause and effect essays?
a. Cause-to-Effect Pattern
Introduction, Thesis
Effect 1
Effect 2
Effect 3
Conclusion
b. Effect-to-Cause Pattern
Introduction, Thesis
Cause 1
Cause 2
Cause 3
Conclusion
c. all of answers

(3)
body paragraph contains three elements
a. Topic Sentence,Supporting Details and Introduction.
b. Topic Sentence,Supporting Details and Thesis statement.
c. Topic Sentence,Supporting Details and Closing Remarks.

(4)
two elements in Conclusion
a. Restate the thesis statement and Offer a solution or share insight.
b. Topic Sentence,Supporting Details
c. Topic Sentence,Supporting Details and Closing Remarks
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How to write a cause and effect essay
" Al g el Jlia A4S Ayis

Step one " Jg¥) 3 ghdl)”

Select a significant topic, for example, a social phenomenon or a social trend.
" SliaY) slady) o Aelaial 5 Al Jia aga £ page JLAN"



Examples: "aLal"

Teenage rebellion " 48l jal) ¢y g,a 348
Teenage violence "8 all g (& ciiall"
Domestic abuse " (Al glusyl”
Environmental crisis " &l 41"
Pollution " &gt

Increasing number of teenage pregnancies " <@l jall (m Jaad) cila sas 5"
Increases in computer science majors. " sigzash asle cluaads 8 a3l

Step two "l 5 ghil”
Decide whether you want to examine the cause or effect or both.
"LaglS g Y o ) and b b 5 i 1Y) La

Step three "4l 5 ghily
Examine each cause and effect thoroughly, using sufficient evidence to prove your points.
"l Aalal) Bl iy A e A La aladiialy dlld g Ay guitidll g cilaad) JS Al 2"
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Remember the following points when you write about the causes of an effect:
1.Look at the possible causes and discuss them.
el 5 Alaiaall i) (e Canl
2.Support all the causes. Give good examples.
Al Jae 5 Lgia aal g JS ael
3.State your most important cause list. This will make your essay m ore interesting.
Ll J<5 e agleal
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Cause structure words:
the first reason is, the next cause, because ,as
Aiold adores Lani Dylod 5 gla 131 5 5Y0 A

Effect structure words:
the first effect, as a result,consequently,therefore
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Jaall (gl g &3 dlligh Jial Jan b 5l
Aagundl el ;3518 g 933 L independent a1 Jie g (I live in San Francis)
4 Al : 2 indedependent dis (She works in the city, but she lives in the suburbs
Bakaall ;s a3 i8I il ¢ indedependent

Ol e g s (A A jall Aty sl independent ad¥ agda i Jall @k E3E Lgd g Gany aa
1- ; dhgiiall Laldl) (independent; independent )
2-_(coordinating conjunction+, ) 4alS (A 4s gaxa A g Ly Laldy (fanboys ) AUIS a9 Wia JS e i Jg) a9 Whida Jigwdl (and -nor - but -or - For- yet-
s0 ) Jis (She works in the city, but she lives in the suburbs)
3- (; + Transition + , ) (A Gl A (however-therfor-nverthless ) st ¢ cas g Aagiie Aaldy 48 gun LS Ao giiag) dyile Alald
Jéa (I love San Francisco; however,| hate the traffic

Lgha Ban g S (laa g it ) sSlly Ablaia AR By (g 138 Cagalil Amaadil) 3 palanall JiS) Spuaaity al€iyy JUB QY 5 pablall 3 pudalanall e (Uil 3311 (b Lyl i gau

5 pilall 5 yualaall
0 A G SS) Jpualig 301 58 Lgob g 90 B pualaalls

Al b e granall (i 5S1 Lgra s sl s Ooilins Oyl ity Ot (oo Sl 90 (U g ) B Uil ) 5i) 535 Lgd ALaad) ) U gl s (fanboys )
ALl aSa (i ag! agleay 138 il oSl Uie Cibal) (e uale il g £ liaa 2 2y gy Loy uiala day R B Jadl) (308 uale S J o) Coaiaa) b Jadll S 13 o) nay
e Cighaall aSa yudi 41 Ci ghaall Ay el Za1) o) 58
D8l ) i€ 1) Alsadlal) (g

Safaal) Aaall (o Giaath agill g Complex Sentences ol ( Jiiuwa jull)cuisiall o1 g Sy Clsbail) e AS) ciablll oo 98 7)) W Waag

saieal) Alaall Complex Sentences : ¢ oS Alaa 4 sl + coaiil B e salg
- Al o culabally o) 1A GSea s Claiall Ll g COshal gl 14 Saa Baeall Alaadl o) Lgay o 5Y culaiialy Ly Ala B ALald Jie by s When |
first moved to the city , | was afraid to drive the steep

¢ cuaiall o) 58 A L
&\j\&ﬁh’iﬁ s :adjective «adverb noun (aw EATHER EIRCATHY I PN Gl )
O il gan g Alma Ciliia L culatoal) W gdn (ha Ban g IS ((Aesald) Aoy pil) (B Aalil] § palaall A anana g Lails culabaal) Gaew AN g8 Cuilay ganal) UitE )

1- dependent adverb:
Jha a3l 8 g (353 g0 Wl g Gtall e (8 Laild yms when awhile -cle¥) A Sad o<t A1 1 Bl Ga G sand) Cilal i GRS Uba) ¢ Japd ga 0 - << B fla (Sad
s iyt &
e PN 20 P ) ) Abiad (8 g g gl Gl Ay )

(g
- &aal) e o Laild ey
- Jia Al iy el Whsaw s (When- while -becous- although
- ALYl ada (8 qua (e PN 200 7 (017)

Bolall dry a9kl g iSaaY)
§ pdlaall g
adjective

oY) W adjective dependent : ciual daa sgd Gl oy pany 850 1y 29 ek 2 and) relative (e b (Al ((Ansdl A dsuasall sl Sl (Who - whom -that
- which - such as -whos)

Alla : (man who are not married are colled bachelor) (e e g al g JaJd)
aad who are not married o <y Ba¥ g dall o olall s A gkl ¢ Lehd Ll diuay (& Who 3l (in

Calabi AiSasy)
il e dag
ey
ol 324 (A



noun

O sana 12 g Ciaiaai) Alaad Jolb ) Ay Jsria Lal (g auilS Jary 1 ciialn ki) Lal (Wh ) Alia¥) (g Lagha (a3 () calalsl)
4lla ; ('scientists know who caused it) 4 Jsnde U Jai (& g iy (gl A b lgiad I dlaa)
noun :
Al Alaall) cirindy) el 4 Jgrda gl Jolb L)
G (W) Q

Liggail 138
JV ki AL ws conjunctive adverbs Wi gl Wlisa il g 4 jal 81 all) e Lgadiiosd CiS g Lgda 3a) g JS addd e g Jaadl o Juad AN il g¥) & AN
sl (B Jgaa W 5 puay

J3f Y -
- uall ) oo Ladld g
- o Ll iy gued) by (When- while -becous- although
- Licy) o0ds oo cwns (o Plilal P00 2 012

o L Jlaagke) Jgla
a citizen can vote in united state when he is 18 years old (4w 18 s Juas Lol Baaiall cil¥ gl & Cu gaaill (ol gall aalions )
QALY cuiaipal) ga Jad 4dag )

ke <)
alg el g ag) sS e Jaal) A sl B asdied dlme A0S e Way ) 3 jualaall

e L cparallelism ) g sl g @il
Jia V) S i) Gl 320 lany e A8 ghanal) clalSl) g Jandl o iy sh
J Aaalt e Jlaparallelism :
We wanted to cook and to swim
digall 534 Aaal) Gl LIS ol o<1 : We wanted to cook and to go swimming
Jrdll Aipass S o gaud) (puy pua L S0 LD (g o gaug 58 M) joucmal) Ay gl agrall) A 980 Alead) O 0 0 9 138 4

,,.,a:.xgul.)\éaslsg_mu&sq‘mmsumwﬁuu&.g&%&\gﬁgwm\w;P,'n).,ms;;u’
?‘}51‘)9-“ d—.ﬁ%ﬂﬂ\g&@)‘)ﬂ

. . S agi cibae ) il G ) g5 and
5 Al Ay A (b AR CilalS) oy ay s A 2 bl i s g4 e 080 (CoOrdinating conjunctions)

alsiiyg

8 S dalg agha o ) eld ) Baa

Conjunction
GaSiad g8l oo plSih a0l ConjunCtion il g Gl G Jal) (2 Wlasidu) I @l g3¥) sa g 40l 5ilg
Lgia JS (8 (Ot (S (o laaiig (Akaghia pf o) ddnghia) Al dlualh g ladiaadl (e (sra g Alsma 32018 ) el B Lgd Lgd £ 5 0S5

4 (o 08 U8 sl B dale o) 68
- J8 Oilan (S o8 g Aliald b o Y (2 e (g e
- pgd palis (e iy yy 48 830 S (S 98 () W) aSal) (i J) s e g2 9 parallelism

OpiSas oS g gil
coordinating
adverb
subordinator
paired s correlative ((nialS ¢ G s dasl (a )

i i : coordinating
- dals & de gaxall & UB (fanboys) 29 (and -but - or - nor - yet -so - for )
- S g Gpaie G La cilaall aadind g Alaall (a8 Laily ¢ oS5 ks

- caall Lgaladia (Saa
. i 1- (4lsg4als) Jis (you and i are studying togather )
2- (da g daa phrase ) Jis (we btter finish studying soon_or we wil be late for the exam )



3- (delhy Jud ey A ga G5l (5585 551 Jia (we would have reached on tim pbut there was a huge traffic jam )
(Al e L b2 g (equal)

- ALaldl) (gl piagl Adnghia p dile )
- S Alaldl) Jaat i

el 3 e JS A Ll haadi Aale ALald
1- Ala B S 0o L) Goilan (a8 A Ga (A 1 i g g ¢ ol ¢ cilaldl) S
PAE
<lldll: coffe or tee
Al : at the peach or by the lakeside
Sl <uis e s whr you say and what you do
(O aga e Wl sBaaY 5 Jan ol g Aiald s 6<1) 1 Ldaa La Lgda JS B ALYY ) ghaa ¥ i el ALaiSa pi& gl ay | ghaal g Jakd )

2- Ala A palial) Al (s Lal Jual b uagig S jualic & ol Wghay ) o) Lgdke
L) -
-G ‘}uhku s Jis claldll (Jones,Smith, and Jackson presented an interesting report
- & 4du 338 (The novel is available in print, on audio tape, and on video cassette
- &e Al 04 (The lawyer argued_that the weather was bad, that the car had poor brakes, and that the other driver was speeding
a8l (Ba g Ala (piliald G geana ALY JS (A (i ) 0S80 o AN ais A | gliaY -

3- dla A jaiglusl) (Compound Sentences ) cuiil ga cuiaiaail day I g UL L Jla ) 4 jal) ddaall )

Lgilal i ;

and : \aa 48 i g) dgildia slpdl (o by g
but : dalia o 4alida pludl ¢y das
or @ < jd gk
nor : 4sis <l jLa gkl
yet: s gkl
so «for : A gk
(s5inall (3 AL ¢ g ) aSilSaly)

Al Jagatl A0 ) plalaa (e pladl Conan Ul B pualaalla

dﬂ%m‘w133%@‘&@)Jﬂ\“&&e&;uﬂyﬂ&'.%m:

Note: The comma may be omitted between independent clauses if a sentence is very short.
Acceptable:
The shooting stopped and peace followed

Alald asi Lo Wil juad dlaall 5l gale Jny

GASis8 a A g gl ol
paired s correlative

b LaS a9 Gl aa (920 (alS (e agia a9 JS (O 9Sh Aand (14
not only .. but also
nather .. nor
eather.. or
not.. but



- i 5% a0 Lld ) Jie equal 138a 5 (AalS e Al ) ray (s g
- 13 5 B e il e Jad g g pla ad ) U La (Sa ) a3l Lg% 0 Y
Al e el A i jall b

galadiin o Alia) Jgan 4 g

i adverb
QAN (SISt oS

- Jg) Ulila (Jia uiiian gl oS0 Alla B 5518 cuiaiyaily 5618 Catabyad) Co qudagi ) gl g0 2a) g

- sl Sl o G AY) 1 clabai)eud ) 13 ¢ 9%l Ausle Alald Wtay g A ghia Alald Lgld gl )

il gl g Wty Jgaa B s jall B

iisiad S subordinator
B8 g - LB LaS - gl cuiaial) dglay b AU N (A
ALaldl) -
L Biiae Aland) culls 13) ciaial) 3 ke sy Alalh g s

e Lglila, Jlansd (e Sy L0 G5 B lia
L) Ka e ial

o) 3 palaal) (A Localdl) day i) b Waasea 4380 Cailla ol J gaa Lglla

Jdelaa9

transition 4ew s L& 45
#1 AU Juad O sl Wy ) LB (y Qe L gudn g g LSuulad J3S) Jand) Jrad L) Lgidh g9 Sl g il s oy 55 Lyl (4 (o 331 AL

LU Al plind o<l &l ga) o) ClalS (amy Lgdaia ey
dal g a ol ) g A ) A Ral) ) i jlaa oY) <l 9ol day 4

KLl o oS Lpdany g 8 AN G plalaall Ll ) aSay (Gaw Lal 508 Cilale ) Lgsd ALaldl) Lagll udl o
Al Al B a6 Jual g
Ofilald (p puand A

Al e ) (frall o il L Alaad) o WLBAS 13 ay ) JUIS A

- Cnilald  Lghan CIANY) fua Jia
Mary Jones,who spoke at the meeting today, opposed the merger
S A (3,5 sl A
sl e U7l L Aaall e aliia o
- il i) gy A
Mary Jones, speaking at the meeting today, opposed the merger
Alald Lyaay It Aol B s Mg
Speaking at the meeting today, Mary Jones opposed the merger
- Jmdi ol
Mary Jones, frightened by a mouse, bought a cat 4
Frightened by a mouse, Mary Jones bought a cat
- J4)) Nonessential Appositives (4l diua 418 A (il co Al Sy Jad) )
Professor Jones, my history instructor, dismissed the class early

o3 (o) Lgaskis 3 ALY B
(by such as, especially, particularly):
Jones likes to read about dogs, especially Welsh Corgis, in his spare time

- S )
His wife, not his brother, needs the money more

- @ de giiall slaud) (Jr., Sr., Ph.D., M.D
Mary Jones, Ph.D., will lecture on insec fragmentation today at 4 p.m


http://wwwnew.towson.edu/ows/nouns.htm

-yl gl
(in my opinion, unfortunately, moreover, of course, unfortunately, as a matter of fact, indeed, for example )
( The committee members, however, lacked initiative.)

- oL wlad il ¢1adl): Joe, please hand me the newspaper.
By g (pileald Ll Jaald Lalll B edls g (You will see, ladies and gentlemen, that | have nothing up my sleeve)

RIS a8 e Ja LY ) i) g3 sans il U 138

Saal g Alald

Wty Lol (Lasha) (3985 A dnall B JIga) 3 Ly :
- By A
In the solitude of that snowy December night, we became good
friends
- Participial phrases Jia
:Speaking at the meeting today, the woman opposed the merger
Jio Aaldl) 5 59 0 gab B yuad diall S 1Y g - On that night we became friends.
- Bl 4 Jerda (A M) juaal)
Upon entering the room, the police heard a gun
-J d 2 Adverbial infinitives
(Wl pudal oy § RS o B0 Aleal) o3 o) iai S in order da B ggh sinall Gl 1) )
Jdé : To buy that car, you must pay a $500.00 deposit.
In order to buy that car, you must pay a $500.00 deposit.

o ) - Cgbiad) ol F ) gl (a SSI g Cppais AUS Sie
ALl Lgub Al Al 68 Cuny uiliald o o)) is pale JS wasi The house at 100 West 67th Street, Baltimore, MD 21210, was sold today

- Before Confirmatory Questions:
You will be at the party, won't you¢

Aaldl) pa ¢fiian s 98l pualinl) ¢ Joa 1) o guady cilliadla ;
- Lt Aluald audaiy ¢fiaia Sl Jpdd (Saa (L 58 (il (ng CuliSad) (i day i Ll

- e Alald Jass La (i ) 68 cpl Cp JS Jand g gualind) (o Abeadis (p Ja 3 Lt
Jones and Smith and Jackson presented an interesting report.

Lo oSl Uald
uﬂ‘;!\@@,mm;y\uhmém Ul G

- Sl Legh a3l 48
Do not place commas between two items separated by commas

o333l U ge Auailiie 5_leal) Genl Ll gnskaa Uni g paa) 5 )

O A g SistsS

4glsa Jidy JIsed g
-3 e H.\ﬁﬂ
- deludl
-l 8y)
-l i)
Joiibasld b
uc) AL Alagl) 3 58 g AalS Jg) (138 ALalS Alay g1 (361 9S00 (ppadiians i€ 13
sl GadA Y s 13

GstslS and
gl gSl) A
O sSann (i 581 (8 paktunth (i Sl IS Ciatpnl Lgalas (30l b
LasS LI Aailh yualic ¢y Juadll

IS5 lingiil y Jual 8 4l ol ()






